
13732 12828

13730

13841

12881
11007-XXX (RUBY)
11007D-XXX (DIAMOND)

12849

13820 (3/16 TUBE)

12752 (3/8 TUBE)

13632

13848

12862 13849

13198

13727

12751

13839

WATER ONLY
NUT 11299

13880
FOR .281
NOZZLES

FOR .300
NOZZLES13901

BACK MOUNT
COLLAR**

13878

FRONT MOUNT
COLLAR**
11198

12835-XXX (RUBY)
12749-XXX (DIAMOND)

A-DIM
162MM
6.375 IN

A-DIM
190.5MM
7.5 IN

A-DIM
230.5MM
9.075 IN

A-DIM
154.5MM
6.083 IN

13879

13903-X-X-X

ADAPTER
   -1 13730
   -2 13841
   -3 13839
   -4 12881 - WATER ONLY
   -5 12327

ACTUATOR ASSEMBLY
   -1 12828 TOP INLET ACTUATOR
   -2 13732 SIDE INLET ACTUATOR

13904-X-X-X

NOZZLE NUT
   -1 STANDARD NUT
   -2 FOR 3" NOZZLE WITH NOZZLE GUARD
   -3 FOR 4" NOZZLE WITH NOZZLE GUARD

ABRASIVE BODY
   -1 13880 .300 ABRASIVE BODY ASSY
   -2 13879 .281 ABRASIVE BODY ASSY
   -3 13901 .281 DUAL INLET ABRASIVE 

BODY ASSY

ABRASIVE INLET
   -1 12752 INLET FOR 3/8 TUBE
   -2 13820 INLET FOR 3/16 TUBE

* 4" NOZZLE NUT WITH NOZZLE GUARD NOT
YET AVAILABLE FOR .300" NOZZLES

** ORIFICE SOLD SEPARATELY

13904 - DIALINE CONFIGURATIONS

13903 - ACCUVALVE  CONFIGURATIONS

*A-DIMENSION IS FROM
INLET TO TIP OF NOZZLE 
OR THE FACE OF THE 
WATERNUT
*A-DIMENSION IS FOR A
3" NOZZLE

14141
HIGH PERFORMANCE
VALVE BODY

OPTIONAL MOUNTING PLATE
14142 FOR VALVE BODY 14141

** ONLY FOR STANDARD VALVE BODY ASSEMBLY

VALVE BODY ASSEMBLY
   -1 STANDARD VALVE BODY ASSY
   -2 HIGH PERFORMANCE VALVE BODY
   -3 STANDARD VALVE BODY FOR HI-CYCLE
   -4 HIGH PERFORMANCE VALVE BODY FOR HI-CYCLE

11033
STANDARD

VALVE BODY

11043

12178

11010

11562
STANDARD
NEEDLE

13682
HI-CYCLE
NEEDLE

11033
STANDARD
VALVE BODY

14141
HIGH PERFORMANCE
VALVE BODY

ACCUVALVE ASSEMBLIES DIALINE ASSEMBLIES
PART NUMBER DESCRIPTION NEW PN OLD PN DESCRIPTION

13903-1-1-2 Accuvalve Assy, Top Inlet Actuator, 190.5MM Adapter (Standard) 13904-1-1-1 12903 Dialine Assy, .300 Nozzle w/ 3/8 Abrasive Inlet and Standard Nut
13903-1-1-W1 Accuvalve Assembly, Top Inlet Actuator, Water Only 13904-2-1-1 12834 Dialine Assy, .281 Nozzle w/ 3/8 Abrasive Inlet and Standard Nut
13903-2-1-1 Accuvalve Assembly, Side Inlet Actuator, 162MM Adapter 13904-3-1-1 13573 Dialine Assy, .281 Nozzle w/ Dual 3/8 Abrasive Inlets and Standard Nut

13903-2-1-3 Accuvalve Assembly, Side Inlet Actuator, 230.5MM Adapter 13904-1-1-2 - Dialine Assy, .300 Nozzle w/ 3/8 Abrasive Inlet and 3" Nozzle Nut w/ Guard

13903-1-4-2 Top Inlet, High Performance Valve, HC Needle 13904-2-1-2 - Dialine Assy, .281 Nozzle w/ 3/8 Abrasive Inlet and 3" Nozzle Nut w/ Guard

13904-2-1-3 - Dialine Assy, .281 Nozzle w/ 3/8 Abrasive Inlet and 4" Nozzle Nut w/ Guard

COMPLETE ASSEMBLIES
ASSEMBLY VALVE DIALINE COLLAR OTHER

13736 13903-2-1-1 13904-1-1-1 13878 12401 - THIMBLE FILTER
13906 13903-2-1-3 13904-1-1-1 13878 12401 - THIMBLE FILTER

309 5TH AVENUE NW         PHONE: 651-294-8600
NEW BRIGHTON, MN 55112    FAX: 651-294-8620

EMAIL: INFO@ACCUSTREAM.COM  
WEB: WWW.ACCUSTREAM.COM

SHEET 
1 OF 1

P+P+
REV

DWG.  NO.

TITLE:

HIGHLY CONFIDENTIAL
PROPRIETARY INFORMATION

ALL DATA AND INFORMATION ON THIS
DOCUMENT IS FOR THE SOLE USE OF
ACCUSTREAM AND ITS LICENSEES AND
MAY NOT BE USED WITHOUT PERMISSIONACCUVALVE AND DIALINE CONFIGURATIONS SHEET

13903


	Sheet1
	Drawing View1
	Drawing View2


